NENC IAINNEYQ






e S0S{S| snfet FEITHE

gl
Ra
o)
o




X

—

3g

o

23 21t

AP LIEE] =9 AlEF (14.9.19)

‘ILAPY CHEFSY (15.9.15)
FQUE O dHNE st @ ol A @ H"H2 1 2I4M
@ Arg|otd™at sk= ® USHA 74™ ® ZAIZF 22I4M
@ 2 QN HY © LA IEEHY 75

L=< 57H S0t 23| M= (15.9.16)
. 7I?_*I1I=.E I1I2I<.>_* S0 48 X2 M2t (16.1.13)

NE2L-EE ‘TXO|A}b. XA X! X|=I OF2- A3 (16.1.22)



« ZEAIZHTR(68AIZE — 52A|Zh): THAHIH Al
- S HE ==t

UXK5M| 0|42t TAS HEX I &8

P
o
<§§L:I°E'xraﬂ > . HAMYTHEXBH S 67} &) I 52
al

« AT IIZ*" XIg712t =ty
2SI - AXIM HHUZ 50% — 60%, 90~240Y — 120~270Y
S = 6}%._*%.* ZH: ZXUZ2| 90% — 80%

LY > - SEIZToH HYRE =

I 22 A9 oliX|2] 7|=1t Ex}
12 =HA N Al FEA2] THEEXL

0

MOIAL X
UTE X

< 2LH SHHX|Z! '




100
i

rd
K

1104

K

15004

130094
a7
Xl

X|
£ X|X| (H=2XA},’16.2.19)

|

P

|H+
P

=
T

NS

y

48.3%7 SHUAX|

% =2019] 61.7%7}

AT H|
244 10%




il

<

K-
iloF




= - = — A
SRl SiXf FISH SOl LLSIHs X& g
o QY 2=

1 HLE AL =37l 58 2=
- ARy 23 51 SAl0) E43 =50

oIr

—y =g =
I 20) X2 HERE S X
« 2UYRIE 7I3IR AT 23
33 rdst - AR HEJHHEE, SR N, 271Y EaE 2
EIANE 7= - XF-ditd UaHA it SSEE dSHA W
. ZEAIZHE 5 Y BT 2 A
L - BT RO MRt £7
0|=SRX JHA - Hold S8 EM 5_'—’-.}E=|"
| -
_ - A0 HE4 WFY 7Is B2t
g 8= s o
- At2|E2R 71U E WM R Abe|2 e ARZFXICH oA



A -HI T 5
BACHE AZel
ofaHt) e =

« 2| X7} 2H0| E|0{A{ = CHE
o YT LLAPH g2l 2T OtL|2}, 7HE A% S| 7HM =hit
AAL(BEH)  XMADEKHo CHSH Yeksin 78 £91 BAH(B7IY) A0 M2 XA XN HiX|
DA} (X} X7t EEARF AZZ ]| Mok

CAL(RESZD) M



=712t (3] JESVI W =]

I XZMK|Q =SS ENZ 0|F XS He HE B 517 $I5
%715 OfMICH £

1 VEESHEE | ©AEXNE Mgl BLEZS St FEHE 22t
4 @ H|IEE 1EIHZ HorE AT

S EEE | OnEN 2R 22X iEY 2
© A HE | @ 35 DY HES U8 MHK AR 4
|
Aotz | O BEREM, ARMEIK I2H0| Ol REUS0l £ AE
S o | @ MSIOrHY AR SiA: MUK MR HETEN
— * IHAX=ZAIZtol XElet SUS MY Al U= L = XA




& E7 M2
X o — —
pekcaiul w=/HSd SA| F
1 =503 RSS2 45 HatH I|5
QroH L EIHS{o| MF 0| I

- WSIHS0] SutE|x]

LSAEL W

o XLJAIOH
oL-_=2Hd
- LSAEL} 22EH WO =

Xt OJADfX]
- 712 0jd 1 B¥
I 7=|E=I|:.|-Jg

- F|SIXHA 2 Q15 A=

W =7={0]
IHeE
EAR
dzet

o L}
T =

oo

712019

10






